




Unit 7 Problem Set 1

1.  2 KClO3 (s) → 2 KCl (s) + 3 O2 (g)

a.  How many atoms of  K, Cl, and O are on both the reactant and product side of this reaction?

b.  List the number of formula units or molecules for each compound.

c.  Calculate the mass of the reactants and products if 2 moles of KClO3 produces 2  moles of KCl and 3 moles O2.  Does this reaction follow the law of conservation of mass?

2.  Explain the term mole ratio.  When would you use a mole ratio?

3.  Carbon disulfide is an important industrial solvent.  It is prepared by the reaction of carbon with sulfur dioxide.  5C (s) + 2 SO2 (g) → CS2 (l) + 4 CO (g)


a.  How many moles of CS2 form when 2.7 moles of C react?


b.  How many moles of carbon are needed to react with .0870 moles of SO2?

c.    How many moles of carbon monoxide are formed from 110 moles of carbon?

